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3HQHOLWLDQ LQL EHUWXMXDQ XQWXN PHQJHWDKXL GDQ PHQJDQDOLVLV 6LVWHP�
3HQJJDMLDQ�.DU\DZDQ� SDGD�37�� 6DNLQDK�&LWUD�0XOLD��7HNQLN DQDOLVLV� GDWD� \DQJ�
GLJXQDNDQ DGDODK PHWRGH� GHVNULSWLI GHQJDQ PHODNXNDQ REVHUYDVL� ODQJVXQJ� GDQ�
ZDZDQFDUD WHQWDQJ KDVLO SHQHOLWLDQ� \DQJ� GLODNVDQDNDQ SDGD 37�� 6DNLQDK� &LWUD�
0XOLD�3DGDQJ� \DQJ�EHUDODPDW GLMDODQ�8WDPD� ,QDQWD�1R���$ODL�3DUDN�.RSL .RWD�
3DGDQJ�� 'DWD� \DQJ� GLJXQDNDQ GDODP SHQHOLWLDQ LQL \DLWX� GDWD� SULPHU� GDQ� GDWD�
VHNXQGHU��+DVLO SHQHOLWLDQ LQL PHQXQMXNNDQ EDKZD 6LVWHP� 3HQJJDMLDQ� SDGD� 37��
6DNLQDK� &LWUD� 0XOLD EHOXP� EHUMDODQ� GHQJDQ� EDLN�� EHOXP� GHWDLO� SHQFDWDWDQ GDQ�
GRNXPHQ \DQJ�GLJXQDNDQ��PDND�GDUL� LWX�GLEXDWNDQ�6LVWHP�3HQJJDMLDQ�\DQJ�EDLN�
GDQ�VHVXDL�WHRUL�\DQJ�GLSHODMDUL�
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